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(@) ADMS X has five symbols x1, x2, x3, x4 and x5 with p(x1)=0.4, p(x2)=0.15, p{X ;: 0 :

& : - . n
/ p(x4)=0.03 and p(x5)=0.19. Construct a Huffman code for X and calculate the efficiency

-

of the code.

(h)  Explain the role of data link layer in the network.

PART- B
=60
Attempt any three questions. (3520. )
3./ (a) Compareand mj‘.bmnssagl switching, circuit switching and packet switching.

Ipromate

_-47 (@) Whatdoyou M’E‘m%lé&dﬂlmﬁﬂmtaﬁgm’wmﬁglqh /

(b) Whatis data encipherment? Explain it with a suitable example.

~"  (b) Explainvariou

5. (a) Explainthe various aspecls of security in network management.

(b) Explain distributed Operating System in detail.

6. (a) Explainthe switching techniques used in computer mangement.
(b) Write a short note on distributed databases.

/7. Write a short note on (any two):

(a) Workload management in computer network.
(b) Entropy reduction. \@\‘
.Ac)  Ziv-lemple coding. 174
Ac)  Huffman coding.
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